Document Number Issue Date Rev. Date
WATEROUS SPL82587 2/10/2003 04/16/25

CZU Pump Body Assembly Service Parts List

Index:
Mounting Brackets
Pump Body Material Discharge Position See Page
Bearing Housing Intake Side
Without
Iron Vertical
With
Horizontal or Vertical 2
Without
Bronze (Prior to April 16, 2025) Inverted
With

WaterousCompany, 125 Hardman Avenue South, South St. Paul, Minnesota 55075 USA (651) 450-5000 www.waterousco.com

Note: When ordering parts, provide Pump, Transmission or PTO Serial Number.



B3

Inverted Mounting

B8
Oil Level

B3
Vertical Mounting

Description

Snubber, 1/8 MNPT x 1/8 FNPT

Adapter-Discharge

Screw-Hex Hd, 5/8-11 x 2-1/2 in

Washer-Lock, 5/8 in

Nut-Hex, 5/8-11

O-Ring, 5-3/8 x 5-5/8 in

Plate-Oil Level

Plug-Pipe, Square Hd, 1/4 NPT (Bronze)

Bracket-Mounting

Screw-Hex Hd, 1/2-13 x 1-3/4 in

Ref No. Description Ref No.
B1 Body-Volute (CZ) B12
B2 Adapter-Intake B13
B3 Housing-Bearing B14
B4 Breather-Qil B15
B5 Screw-Hex Hd, 1/2-13 x 1-1/2 in B16
B6 O-Ring, 5-5/8 x 5-7/8 in B17
B7 Washer-Lock, 1/2 in B18
B8 Plug-Pipe, Square Hd, 1/4 NPT B19
B9 O-Ring, 314 x 321 mm B20
B10 Plate-Serial B21
B11 Screw-Drive, #6 x 1/4 in

B11

B10

Located on discharge

B8

(Iron Pumps)

B19

(Bronze Pumps)
Prior to April 16, 2025

CZU Pump Body Assembly

Note:

B3

(Iron Pumps)

B19

B7
BS

Horizontal discharge position shown,
discharge may also be vertical

(Bronze Pumps)
Prior to April 16, 2025

B20

Optional intake side
mounting bracket
(Position may be
inverted or vertical)

B21

SPL382587
Page 2 of 2



	Sheet1
	Drawing View1

	Sheet2
	Drawing View2


